



St. Louis County, Minnesota

Date of Report: 9/19/2025 5:47:09 AM

**General Details** 

 Parcel ID:
 530-0010-05780

 Document:
 Abstract - 01515859

**Document Date:** 08/08/2025

**Legal Description Details** 

Plat Name: SOLWAY

Section Township Range Lot Block

31 50 16 -

**Description:** NW1/4 of NE1/4, EXCEPT the following: a. That part of the North 806.00 feet, lying West of the East 610.00 feet

thereof; b. East 450.00 feet of North 500.00 feet thereof; and c. That part of East 300.00 feet, lying Southerly of the

North 500.00 feet thereof.

**Taxpayer Details** 

Taxpayer NameMOEN JEFFERY R & GLORIA Hand Address:6972 MORRIS THOMAS RD

CLOQUET MN 55720

**Owner Details** 

Owner Name MOEN GLORIA H
Owner Name MOEN JEFFERY R

**Payable 2025 Tax Summary** 

2025 - Net Tax \$3,609.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$3,638.00

**Current Tax Due (as of 9/18/2025)** 

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$1,819.00	2025 - 2nd Half Tax	\$1,819.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$1,819.00	2025 - 2nd Half Tax Paid	\$1,819.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

**Property Address:** 6972 MORRIS THOMAS RD, CLOQUET MN

School District: 704

Tax Increment District: -

Property/Homesteader: MOEN, JEFFREY R & GLORIA H

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$71,700	\$309,900	\$381,600	\$0	\$0	-		
111	0 - Non Homestead	\$22,400	\$0	\$22,400	\$0	\$0	-		
801	0 - Non Homestead	\$100	\$0	\$100	\$0	\$0	-		
	Total:	\$94,200	\$309,900	\$404,100	\$0	\$0	3643		





St. Louis County, Minnesota

Date of Report: 9/19/2025 5:47:09 AM

**Land Details** 

Deeded Acres: 34.00

Waterfront: TWIN (31-50-16)

Water Front Feet: 880.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

		Improve	ement 1 D	etails (HOUSE	<b>:</b> )			
Improvement Type	Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des		
HOUSE	0	1,4	56	1,456	ECO Quality / 725 Ft <sup>2</sup>	MOD - MODULAR		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	28	52	1,456	WALKOUT BASEMENT			
DK	1	8	12	96	PIERS AND FOOTINGS			
DK	1	16	22	352	PIERS AND F	FOOTINGS		
OP	1	6	34	204	PIERS AND F	FOOTINGS		
Bath Count	Bedroom Cou	ınt	Room C	Count	Fireplace Count	HVAC		
2.5 BATHS	3 BEDROOM	IS	-		1	C&AIR_EXCH, GAS		
Improvement 2 Details (AG 24X24)								
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des		
GARAGE	0	57	6	576	-	ATTACHED		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	24	24	576	FOUNDATION			
		Improven	nent 3 De	tails (DG 26X3	60)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<sup>2</sup> Basement Finish Style Code			
GARAGE	0	78	0	780	- DETACHE			
Segment	Story	Width	Length	Area	Foundation			
BAS	1	26	30	780	FLOATING SLAB			
LT	1	16	20	320	POST ON GROUND			
		Improvem	nent 4 Det	ails (ZBO 12X	12)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des		
GAZEBO	0	16	4	164	-	-		
Segment	Story	Width	Length	Area	Founda	ation		
BAS	1	0	0	164	POST ON C	GROUND		
		Improver	ment 5 De	etails (ST 12X1	6)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des		
TORAGE BUILDING	0	192		192				
Segment	Story	Width	Length	Area	Foundation			
BAS	1	12	16	192	FLOATING			





St. Louis County, Minnesota

Date of Report: 9/19/2025 5:47:09 AM

		Improvem	ont 6 Dotails (	CONTAINED)				
Improvement Ty	pe Year Buil	•	ent 6 Details ( oor Ft <sup>2</sup> Gros	•	sement Finish	Style	Code & Desc.	
STORAGE BUILDING 0				160	-	Style	-	
Segment Story			Length	Area	Founda	ation		
BAS 0		•	20	160	POST ON (			
		Improvo	ment 7 Details	(ST 10V12)				
Improvement Tv	no Voor Buil	-	ment 7 Details	•	sement Finish	Stylo	Codo & Doso	
Improvement Type Year Built STORAGE BUILDING 0		12 - Walli Fi		120	asement Finish 3		Style Code & Desc.	
Segment Story			Length	Area	Founda	ation		
BAS 1		10	12	120	POST ON GROUN			
		Improve	mont 9 Dotoile	(CT 0V40)				
Impressement Tu	vaar Buil	-	ment 8 Details	•	namant Finiah	Ctulo	Cada 9 Daga	
Improvement Type STORAGE BUILDI			Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish St			Style	Code & Desc.	
Segme					∪ - Area Foundatio		- n	
BAS		8	10	80	POST ON GROUND			
	<u> </u>		-					
		Sales Reported		iis County Audite				
	ale Date		Purchase Price	9	CRV Number			
(	09/1996		\$31,750			113824		
		A	ssessment His	story				
	Class Code	Land	Bldg	Total	Def Land	Def Bldg	Net Tax	
Year	(Legend)	EMV	EMV	EMV	EMV	EMV	Capacity	
	201	\$71,700	\$309,900	\$381,600	\$0	\$0	-	
2024 Dayahla 2025	111	\$22,400	\$0	\$22,400	\$0	\$0	-	
2024 Payable 2025	801	\$100	\$0	\$100	\$0	\$0	-	
	Tota	\$94,200	\$309,900	\$404,100	\$0	\$0	3,643.00	
	201	\$65,600	\$280,800	\$346,400	\$0	\$0	-	
0000 D 11 0004	111	\$20,300	\$0	\$20,300	\$0	\$0	-	
2023 Payable 2024	801	\$100	\$0	\$100	\$0	\$0	-	
	Tota	\$86,000	\$280,800	\$366,800	\$0	\$0	3,331.00	
	201	\$73,300	\$291,500	\$364,800	\$0	\$0	-	
	111	\$38,300	\$0	\$38,300	\$0	\$0	-	
2022 Payable 2023	801	\$0	\$0	\$0	\$0	\$0	-	
	Tota	\$111,600	\$291,500	\$403,100	\$0	\$0	3,712.00	
	201	\$70,400	\$273,000	\$343,400	\$0	\$0	-	
2021 Payable 2022	111	\$36,600	\$0	\$36,600	\$0	\$0	-	
	801	\$0	\$0	\$0	\$0	\$0	-	
	Tota	\$107,000	\$273,000	\$380,000	\$0	\$0	3,462.00	
		-	Γax Detail Hist	ory				
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments		Taxable Bui V MV		al Taxable MV	
2024	\$3,483.00	\$25.00	\$3,508.00	\$84,752	\$275,88	4	\$360,636	
2023	\$4,067.00	\$25.00	\$4,092.00	\$110,714	\$287,97	8	\$398,692	
2022	\$4,277.00	\$25.00	\$4,302.00	\$105,701	\$267,96	5	\$373,666	





St. Louis County, Minnesota

Date of Report: 9/19/2025 5:47:09 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.